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S, (t) = Am(t) Sinw,t + Acosm,t
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Sinm,t
So(t)
s, (t)-Sinwt = AmM(t)Sin® o t + Acosm,t -Sin w,t
A A A .
= —m(t) ——m(t) cos2mw.t + —Sn 2wt
> (t) > (t) ol + 3 0
20, m(t)
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s(t)
S(t) = m(t) cosw,t
m(t)

s°(t) = m°(t) cos’ m,t = % m- (t) + % m’ (t) cos2am,t

S SHY) of
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s(t)
V, = CoS( ot + 0)
v, = Sin( @t + 6)
0
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s(t)

V. = M(t) cosw,t cos(w,t + 8) = %m(t)[cos@ +cos(2m,t + 0)]

v, = m(t) cosm,tsin(at + 6) = %m(t)[si n0+sin(2ot + 0)]
1 1 .
V, =§n(t) cos’ V, =§m(t)3| neg
1, .
V, =V, :ém (t)sin20

Vg

2006-11-30 22

11



2006-11-30

22

12



=
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QPSK

S(t) = m(t)cosw,t + m, (t)Sinw,t
m, (t) =1, m,(t) =£1

s?(t) =1+ sin 2m,t

QPSK
20

s*(t) =sin®(2m,t) = %— %cos 4ot

4f, 4
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vV, = %m(t)cos %

cosd

P, = %erfc(ﬁ cose)
I
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m(t) = cos Qt
COSw,t

s(t) = %COS( ®, + Q)t

¢

%cos( W, +Q)t-cos( w,t+ ) = %[cos( 20,t + Qt + @) + cos( Qt — )]

%cos( Qt—¢p) = %cos Qt-cos ¢ + %sin Qt-sin ¢

1 COS@ 2
1
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E,(1-24/T)
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2PSK
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N {X1, X5, vy X}
N—j ]
R(j)=> XX, @<i<N) ()=
i=1
N
]=0 R(O)=ZN:xixi=ZN:xi2:N

1>1 1>N X:=0
R(0) R()
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A (T) = fojoT5dt+Af (0) = f,5-T + Af (0)

AF(T) T
Af(0) t=0
T
At (T)

AL(T) =j5@dt+m(0) :ﬂ&tduﬂ@dum(m

:%5.T2+Af (O)T

+ At(0)

0
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2FSK

S(t):{sin[(a)o+a)s+Aa))t+¢9] O<t<At

Sin[(w, + Aw)t+ 6] At<t<T
T
0w, 2FSK 1
(g + ) 2FSK 1
Aw
At

0
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1,7 1T :
X = ?JO S(t) cos w tdt y = ?jo S(t)sin w,tdt

ey [Sin[(a)s +Aa))At/2])2 +(sin[Aa)(T —At)/2]j2
(o, +Aw)T AwoT
N CoS(AwAt) + cog Ao T — (o, + Aw)At] — coS(AwT ) — cos(w At)
2A0(w, + Aw)T?
At=0 Zzz[sin(Aa)TIZ)T
AT

Zz_(T—AtTJr sn(w.At/2) |
2T w T
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